1 2 3 4 5 | 6 7 8
SPECIFICATIONS NOTES
a ) 1. D-SUB 1. MATERIAL:
1.1 Voltage: 250 VAC(RMS) Max. Housing:PBT, UL 94V-0, Color:Black.
1.2 Current Rating: 3 Ampere per Contact Terminal:Copper Alloy.
1.3 Contact Resistance: 25 Milliohms Max. Shell:SPCC.
1.4 Insulation Resistance: 5000 Megohms Min. Rivet:Copper Alloy.
1.5 Dielectric Withstanding Voltage: 1000 VAC(RMS) Screw:Copper Alloy.
L J 1.6 Total Mating Force: 6.0 Kgf Max. 2. FINISH:
1.7 Total Unmating Force: 1.2 Kgf Min. Terminal:Gold Plated over Nickel at Contact Area.
1.8 Operating Temperature: —55°C to +85°C Tin Plated over Nickel at Solder Ared.
sn151030 RietNickel Pited
304025 (A o@o Screw:Nickel Plated.
14— 400NC 24.6610.13 (B) 5 8040.25 3. This Product is LEAD-FREE & RoHS Compliance
1 385 ﬂ & ﬂ Product.
22 SN &@’3@7@5@?@ Q00 — FEN YING
=5 € : I:] D100XXX NO
g = ‘15@ @ @ @ @ S SERIES NO. Lk s compLNT W Rotis
L | NUMBER OF POSITION: '—INSULATOR MATERIALS
f D1: 09-POSITION 1: PBT
LY QUUUUUUU I 52 15-osnon | g
o D4: 37-POSITION ”
JIEI3O B |sostozs]| | 284005 D5: 50-POSTION 2 AL BLUE.
3 ) ‘ CONTACT STYLE 3 ALL GREEN
A= S: SOCKET | —— FLANGE MOUNTING OPTION
o P: PLUG 1: #4-40 THREADED HOLE
1 CONTACT MATERIALS % U3 UMEADD ML
: 1: BRASS
= 2 PHOSPHOR BRONZE - %Eﬁugfggfﬁrﬁﬁ's‘rmﬁ'g@ 8)
* CONTACT FINISH 5 RCHER WO WSTALED(5.)
~ 1: G/F BRIGHT TIN A: $4-40 THREADED HOLE WITH §#4-40U
2 Ay | o ER e b B D (AT
©3 | N i Ly
= FRONT SHELL FINISH #;CREWLOCK INSTALLED (5. sx1§ 0)
~ 1: TN F: #4-40 THREADED HOLE WITH #4-40UNC
) el m sl - RO ALE W bk
AlLAIALA ; AUAIAIA BOﬂNlElOUNTNG OPTION INSTALLED (5.8x13.0)
1; $4-40 THREADED HOLE
2: 2-FINGER BOARDLOCK
4: 4-FINGER BOARDLOCK
5: #3.05mm CLEAR HOLE
> 2.77 15-61.10
o~
———o0 o0 <l> <]>\o 0@ o0
—0 0 O o TET
S ‘ 1.385 A0 Anissue 2010.10.05 ENTERPRISES CO.,LTD
| REV. CONTENTS _ DATE T|t|e D100 SERIES
% P.CB EDGE @ Drawed Shao Jianfeng =
s Designed He Wei D-SUB 0.318"(8.08mm) FOOTPRING, RIGHT ANGLE
RECOMMENDED P.CB LAYDUT T oW gpplrova'l | Leesn‘m DeA4 — ST
! » 8, = 08 cale : ize ile . -ED-B- -
INSPECTION DIMENSION:(A~(G) *ao - sz |SHEET] | Units | mm__|Drawing NG| DI00D2SIX20A1IND
1 | 2 | 3 4 5 6 7 | 8




